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Answer from all the groups as directed.  

निरे्दशािुसार सभी खंडों से उत्तर र्दें । 
Group- A 

खंड- अ 

(Objective type question) 

(वस्तुनिष्ठ प्रश्ि) 
Answer all the questions.                                              2x10=20 



 सभी प्रश्िों का उत्तर र्दें                                                                           
1. (A) Fill in the blanks. 

रि क्त स्थाि भरें । 
(a) The prime motive of financial manager is to _ the 

wealth of shareholders. 

 ववत्तीय प्रबंधक का मुख्य उद्रे्दश्य शेयरधारकों की संपवत्त 
को _   करिा है।           

(b) Present value can be calculated with the _ formula. 

वततमाि मूल्य की गणिा _ फॉमूतला के साथ की जा 
सकती है।           

(c) Capital budgeting is a part of _.  

कैवपटल बजटटगं _   का एक टहस्सा है।           
(d) Marginal cost of capital is the cost of_.  

पूंजी की सीमांत लागत _   की लागत है।          
(e) Maximum redemption period for preference shares 

in India is_.  

भारत में पूवातधधकार शेयरों के ललए अधधकतम शोधि 
अवधध _   है।           

(B) State whether the following statements are true or 

false. 

बताएं कक निम्िललखखत कथि सही है या गलत। 
(f) Dividend is not a part of retained earnings.  

लाभांश बरकरार रखी गई कमाई का टहस्सा िहीं है।             
(g) Dividend is not a compulsory payable to preference 

shareholders.  



 प्राथमिकता वाले शेयरधारकों के ललए रे्दय लाभांश 
अनिवायत िही ंहै।           

(h) Gross working capital is a circulating capital.  

सकल कायतशील पूंजी एक पररचाललत पूंजी है।          
(i) Solvency is not relevant for optimal capital 

structure.  

सॉल्वेंसी इष्टतम पूंजी संरचिा के ललए प्रासंधगक िही ंहै। 
             

(j) The extent of fixed cost in operating activities of a 

firm does not determines the operating leverage. 

ककसी फमत की पररचालि गनतववधधयों में स्थाई लागत 
की सीमा पररचालि लाभ का निधातरण िहीं करती 
है।               

GROUP- B 

खंड- बी 
(Short answer type questions) 

(लघु उत्तरीय प्रकार के प्रश्ि) 
Answer any four questions.                                                 5x4=20 
ककसी भी चार प्रश्िों का उत्तर र्दें। 
2. Calculate E.O.Q from the following information.  

निम्िललखखत सचूिा से E.O.Q की गणिा करें। 
     Annual usage: 50,000  

          वावषतक उपयोग: 50,000 



     Cost of planning an order: 100  

       एक आरे्दश की योजिा की लागत: 100  

Annual carrying cost 10% of inventory value.  

इन्वेंट्री मूल्य की वावषतक वहि लागत 10% । 
 

3. What is equity shares? What are its characteristics?  

     इिक्वटी शेयर क्या है? इसकी ववशेषताए ँक्या हैं? 

4. An investor deposits a sum of 1,00,000 in a bank account 

on which interest is credited @ 10% p.a. How much amount 

can be withdrawn annually for period of 15 years?   

PV= 10% 15 years =7.606  

एक निवेशक एक बैंक खाते में 1,00,000 की रालश जमा 
करता है, िजस पर ब्याज 10% प्रनत वषत जमा ककया जाता है। 15 
वषत की अवधध के ललए सालािा ककतिी रालश निकाली जा सकती 
है? पीवी = 10% 15 वषत = 7.606 

5. What are elements of risk?  

        जोखखम के तत्व क्या हैं? 

6. John Ltd. Has issued 10% 10,000 debentures of 100 each at 

8% premium, redeemable at par after 5 years. The rate of tax is 

50%. Determine the cost of debentures.  



 जॉि लललमटेड िे 100 वाला 10% 10,000 डडबेंचर  8% प्रीलमयम पर 

जारी  ककया जो 5 वषों के बार्द सममुल्या पर शोिनिय है I कर की 
र्दर 50% हैI डडबेंचर की लागत निधातररत करें। 

7. What is meant by capital structure?  

     प ूंजी सूंरचना से क्या अलभप्राय है? 

8. Calculate the operating leverage of XYZ Ltd. Which produces 

and sells 5000 units.  

XYZ लललमटेड के ऑपरेटटगं लीवरेज की गणिा करें जो 5000 
इकाइयों का उत्पार्दि और बबक्री करती  हैI 

Selling price (per unit) = 500 

 ववक्रय मूल्य (प्रनत यूनिट) = 500 

Variable cost (per unit) = 150  

पररवततिीय लागत (प्रनत यूनिट) = 150 

           Fixed cost                        = 2,50,000. 

     स्थाई लागत           =  2,50,000 । 
9. What do you understand by the term capitalization?     

पूंजीकरण शब्र्द से आप क्या समझते ह 
                      

 



                      GROUP-C 

खंड - सी 
(Long answer type question) 

(र्दीघत उत्तरीय प्रश्ि) 
Answer any two questions.  

ककन्ही ंर्दो प्रश्िों के उत्तर र्दो। 
10. What are the different types of dividend policies? Discuss. 

ववलभन्ि प्रकार की लाभांश िीनतयां क्या हैं? चचात करें। 
11. There two projects A and B, each project requires an 

investment of 2,50,000. You are required to decide which 

project is better according to the Pay-back period methods from 

the following information. 

 ए और बी र्दो पररयोजिाएं हैं, प्रत्येक पररयोजिा के ललए 
2,50,000 के निवेश की आवश्यकता है । आपको यह तय करिे 
की आवश्यकता है कक निम्िललखखत जािकारी में से पे-बैक अवधध 
के तरीकों के अिुसार कौि सी पररयोजिा बेहतर है। 
Net profit before depreciation and after tax. 

 मूल्यह्रास से पहले और कर के बार्द शुद्ध लाभ। 
 

Year                       Project A                                  Project B  

                                                                                           
   1    12,500                                          25,000 

   2                                       25,000                                         50,000 



   3     50,000     75,000 

   4 62,500                                         1,00,000 

   5 1,00,000 - 

12. The following information are made available to you in                

respect of material M: 

 सामग्री एम के संबंध में निम्िललखखत जािकारी आपको उपलब्ध 
कराई गई है: 

1. Re-ordering quantity 5,400 units. 

कफर से ऑडतर करिे की िात्रा 5,400 इकाइयों । 
2. Re-order period 4 to 6 weeks.  

री-ऑडतर अवधध 4 से 6 सप्ताह। 
3. Maximum consumption- 1350 units per week.  

अधधकतम खपत- 1350 यूनिट प्रनत सप्ताह। 
4. Minimum consumption- 450 units per week. 

 न्यूितम खपत- प्रनत सप्ताह 450 इकाइयाँ। 
Calculate  

गणिा करें! 
(i) Re-order level.  

   री-ऑडतर स्तर। 
(ii) Minimum stock level.  

   न्यूितम स्टॉक स्तर। 
(iii) Maximum stock level. 



 अधधकतम स्टॉक स्तर। 
(iv) Average stock level.  

औसत स्टॉक स्तर। 
 

13. Write short notes on any two of the following: -     

निम्िललखखत में से ककसी र्दो पर संक्षिप्त िोट ललखें: - 
(a) Working capital. 

      कायतशील पूंजी। 

(b) Time value of money.  

         धि का समय मूल्य। 
(c) Internal rate of return. (IRR) 

     ररटित की आंतररक र्दर। 
(d) Composite leverage. 

      समग्र उत्तोलि। 
        Answer objective Questions 1. 

1. Maximize  

2. 1/(𝟏 + 𝒓)𝒏      

3. Investment decision. 

4. Additional funds. 

5. 20 years. 

6. True. 

7. False 

8. True 

9. True  

            10.False 



 


